Modeling Addition of Integers
Different Signs:

[image: image1.png]< >
109 8 77 6 5 4 10 *1 %2 %3 4 Y6 %6 *7T *B *3*10




Problem:
  Sum:

Model with “Counters:”

Model on a Number Line:
1. 3 + -5 =


2. -2 + 8 =


3. 4 + -4 =


4. -7 + 4 =


5. -6 + 5 =


What is the algorithm (rule) for adding DIFFERENT signs?

………………………………………………………………………………………………….

Same Signs:
 Problem:
  Sum:

Model with “Counters:”

Model on a Number Line

6. -5 + -2 =


7. -2 + -5 =


8. -3 + -4 =


9. -1 + -9 =

10. -6 + -3 =


What is the algorithm (rule) for adding the SAME signs?
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